

APPROXIMATION OF EXTREMAL SOLUTIONS
FOR FUNCTIONAL DIFFERENTIAL EQUATIONS

Agnieszka Dyki

Department of Differential Equations
Gdansk University of Technology
11/12 G. Narutowicz Str., Gdańsk, 80-952, POLAND
e-mail: a_dyki@poczta.onet.pl

Abstract: We discuss boundary value problems for first-order functional differential equations and formulate sufficient conditions under which there exist monotone sequences approximating extremal solutions of such problems. To obtain the results we apply the monotone iterative method.

AMS Subject Classification: 34A45, 34B15

Key Words: functional differential equations, monotone iterative method, lower and upper solutions, extremal solutions

1. Introduction

Let us consider the problem

$$\begin{cases} x'(t) = f(t, x(t), [p(x)](t)), & t \in J = [0, T], \quad T > 0, \\ x(0) = rx(T) + \lambda, & r \in (0, 1], \end{cases} \quad (1)$$

where $f: J \times \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$, $p: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$, $C(J, \mathbb{R})$ is the space of continuous functions in J with the maximum norm.

In this paper we extend some result of Nieto and Rodríguez-López [5] where it was considered the case of functional differential equations with periodic boundary conditions and f satisfied a one sided Lipschitz condition with respect to the last two variables with corresponding constants.

Plan of this paper is as follows. In Section 2 we prove comparison theorem that will be important in following sections. In the next section we prove the existence of unique solution of linear problem associated to (1). In the last

section we prove the existence of monotone sequences approximating extremal solutions of (1).

2. Comparison Theorem

Theorem 1. Assume that $x \in C^1(J, \mathbb{R})$, $M, N \in C(J, \mathbb{R})$, $M(t) > 0$, $N(t) \geq 0$ and

$$\begin{cases} x'(t) + M(t)x(t) + N(t)[p(\max\{x, \Theta\})](t) \geq 0, & t \in J, \\ x(0) \geq rx(T), & r \in (0, 1], \end{cases}$$

where $\Theta(t) = 0$, $t \in J$ and $p: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ satisfies the condition

$$p(\Theta) \leq 0 \quad \text{on } J. \quad (2)$$

Moreover assume that

$$\int_a^b N(t)[p(\max\{v, \Theta\})]e^{\int_0^t M(s)ds} dt \leq \max_{t \in [0, b]} \{v(t)e^{\int_0^t M(s)ds}\} \quad (3)$$

if $0 \leq a < b \leq T$ and $v \in C(J, \mathbb{R})$ with $\max_{t \in [0, b]} \{v(t)e^{\int_0^t M(s)ds}\} \geq 0$.

Then $x(t) \geq 0$, $t \in J$.

Proof. Assume that it is not true that $x \geq 0$ on J . Then there exists $t_0 \in J$ such that $x(t_0) < 0$.

If $x \leq 0$ on J and $x \not\equiv 0$ then, in view of (2), we have

$$\begin{aligned} x'(t) &\geq -M(t)x(t) - N(t)[p(\max\{x, \Theta\})](t) \\ &= -M(t)x(t) - N(t)[p(\Theta)](t) \geq 0 \end{aligned}$$

for $t \in J$, so x is nondecreasing. Since $x(0) \geq rx(T) \geq x(T)$, then x is a constant function. Put $x(t) = k$, $k < 0$. Then, using (2), we obtain

$$0 \leq M(t)k + N(t)[p(\Theta)](t) \leq M(t)k, \quad t \in J$$

which is a contradiction since $k < 0$. So there exists $t_* \in J$ such that $x(t_*) > 0$.

Let us consider a function

$$z(t) = x(t)e^{\int_0^t M(s)ds}, \quad t \in J,$$

whose sign coincides with the sign of x . Then we have

$$x'(t)e^{\int_0^t M(s)ds} + M(t)x(t)e^{\int_0^t M(s)ds} \geq -N(t)[p(\max\{x, \Theta\})](t)e^{\int_0^t M(s)ds},$$

$$t \in J,$$

that is

$$z'(t) \geq -N(t)[p(\max\{x, \Theta\})](t)e^{\int_0^t M(s)ds}, \quad t \in J. \tag{4}$$

It is easy to see that $z(0) = x(0)$, $z(t_*) > 0$ and $z(t_0) < 0$.

Two cases are possible.

Case 1. Let $x(T) < 0$. Then $z(T) < 0$. Take $\xi \in [0, T)$ such that $z(\xi) = \max_{t \in [0, T]} z(t) > 0$. Integrating (4) on $[\xi, T]$ and using (3), we obtain

$$-z(\xi) > z(T) - z(\xi) \geq - \int_{\xi}^T N(t)[p(\max\{x, \Theta\})](t)e^{\int_0^t M(s)ds} dt$$

$$\geq - \max_{t \in [0, T]} \{x(t)e^{\int_0^t M(s)ds}\} = - \max_{t \in [0, T]} z(t) = -z(\xi)$$

which is a contradiction.

Case 2. Let $x(T) \geq 0$. Then $z(T) \geq 0$ and $z(0) \geq 0$ since $x(0) \geq rx(T) \geq 0$. Put $t_1 \in (0, T)$ such that $z(t_1) = \min_{t \in [0, T]} z(t) < 0$. Let $\xi \in [0, t_1)$ such that $z(\xi) = \max_{t \in [0, t_1]} z(t) \geq 0$. Integrating (4) on $[\xi, t_1]$ and using (3), we obtain

$$-z(\xi) > z(t_1) - z(\xi) \geq - \int_{\xi}^{t_1} N(t)[p(\max\{x, \Theta\})](t)e^{\int_0^t M(s)ds} dt$$

$$\geq - \max_{t \in [0, t_1]} \{x(t)e^{\int_0^t M(s)ds}\} = - \max_{t \in [0, t_1]} z(t) = -z(\xi).$$

It is also a contradiction.

Thus $x \geq 0$ on J . That ends the proof. □

3. Linear Problem

Now consider the problem

$$\begin{cases} x'(t) + M(t)x(t) + N(t)[p(x)](t) = \sigma(t), & t \in J, \\ x(0) = rx(T) + \lambda, & r \in (0, 1], \end{cases} \tag{5}$$

where $M, N \in C(J, \mathbb{R})$, $M(t) > 0$, $N(t) \geq 0$, $t \in J$, $p: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ and $\sigma \in C(J, \mathbb{R})$.

Let $y_0, z_0 \in C(J, \mathbb{R})$, $y_0 \leq z_0$ on J . Define function $q: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ as

$$[q(x)](t) = \max\{y_0(t), \min\{x(t), z_0(t)\}\} = \begin{cases} y_0(t) & \text{if } x(t) < y_0(t), \\ x(t) & \text{if } y_0(t) \leq x(t) \leq z_0(t), \\ z_0(t) & \text{if } x(t) > z_0(t), \end{cases}$$

for $x \in C(J, \mathbb{R})$, $t \in J$.

Theorem 2. Assume that:

1. $M, N \in C(J, \mathbb{R})$, $M(t) > 0$, $N(t) \geq 0$, $t \in J$, $p: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ and $\sigma \in C(J, \mathbb{R})$.
2. $y_0, z_0 \in C^1(J, \mathbb{R})$, $y_0 \leq z_0$ are, respectively, lower and upper solutions of (5), i.e.

$$\begin{cases} y_0'(t) + M(t)y_0(t) + N(t)[p(y_0)](t) \leq \sigma(t), & t \in J, \\ y_0(0) \leq ry_0(T) + \lambda, \end{cases}$$

and

$$\begin{cases} z_0'(t) + M(t)z_0(t) + N(t)[p(z_0)](t) \geq \sigma(t), & t \in J, \\ z_0(0) \geq rz_0(T) + \lambda. \end{cases}$$

3. $p: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ satisfies conditions (2) and (3).
4. p is continuous and $p([y_0, z_0])$ is bounded in $C(J, \mathbb{R})$.
- 5.

$$p(\max\{x - y_0, \Theta\}) \geq p(q(x)) - p(y_0) \quad \text{on } J, x \in C(J, \mathbb{R}), \quad (6)$$

$$p(\max\{z_0 - x, \Theta\}) \geq p(z_0) - p(q(x)) \quad \text{on } J, x \in C(J, \mathbb{R}), \quad (7)$$

$$p(\max\{f - g, \Theta\}) \geq p(f) - p(g) \quad \text{on } J, f, g \in C(J, \mathbb{R}), f, g \in [y_0, z_0]. \quad (8)$$

Then there exists a unique solution of (5) in the sector $[y_0, z_0] = \{w \in C(J, \mathbb{R}) : y_0(t) \leq w(t) \leq z_0(t), t \in J\}$.

Proof. Consider the problem

$$\begin{cases} x'(t) + M(t)x(t) = \sigma(t) - N(t)[p(q(x))](t), & t \in J, \\ x(0) = rx(T) + \lambda, & r \in (0, 1]. \end{cases} \quad (9)$$

Note that the map $q: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ is continuous. Define the operator $\Psi: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ as $x \rightarrow \Psi(x)$, where

$$[\Psi(x)](t) =$$

$$\begin{aligned}
 e^{-\int_0^t M(s)ds} & \left[\frac{\lambda + re^{-\int_0^T M(s)ds} \int_0^T (\sigma(\xi) - N(\xi)[p(q(x))](\xi))e^{\int_0^\xi M(s)ds} d\xi}{1 - re^{-\int_0^T M(s)ds}} \right. \\
 & \left. + \int_0^t (\sigma(\xi) - N(\xi)[p(q(x))](\xi))e^{\int_0^\xi M(s)ds} d\xi \right] \\
 & = \int_0^T G(t, \xi)(\sigma(\xi) - N(\xi)[p(q(x))](\xi))d\xi + \frac{\lambda e^{-\int_0^t M(s)ds}}{1 - re^{-\int_0^T M(s)ds}},
 \end{aligned}$$

where

$$G(t, \xi) = \begin{cases} \frac{e^{\int_t^\xi M(s)ds}}{1 - re^{-\int_0^T M(s)ds}}, & 0 \leq \xi \leq t \leq T, \\ \frac{re^{\int_t^\xi M(s) ds}}{e^{\int_0^T M(s)ds} - r}, & 0 \leq t < \xi \leq T. \end{cases}$$

We show that Ψ is completely continuous. Ψ is continuous. If $S \subset C(J, \mathbb{R})$ is bounded set, then for every $v \in S, t \in J$

$$|[\Psi(v)](t)| \leq \int_0^T |G(t, \xi)| d\xi(\|\sigma\| + N_1R) + \frac{|\lambda|}{1 - re^{-\int_0^T M(s)ds}} = \delta \tag{10}$$

because $\|N\| \leq N_1$ and $\|p(q(v))\| \leq R$, since $q(v) \in [y_0, z_0]$. Moreover

$$|[\Psi(v)]'(t)| = | - M(t)[\Psi(v)](t) + \sigma(t) - N(t)[p(q(v))](t) | \leq M_1\delta + \|\sigma\| + N_1R,$$

since $\|M(t)\| \leq M_1, t \in J$. Thus $\Psi(S)$ is bounded and equicontinuous and therefore relatively compact. Hence Ψ is completely continuous.

If $u = \eta\Psi u$ for $\eta \in (0, 1)$, then, by condition (10),

$$\begin{aligned}
 \|u\| = \|\eta\Psi u\| & \leq \|\Psi u\| = \max_{t \in [0, T]} |[\Psi(u)](t)| \\
 & \leq KT(\|\sigma\| + N_1R) + \frac{|\lambda|}{1 - re^{-\int_0^T M(s)ds}},
 \end{aligned}$$

since $|G(t, \xi)| \leq K$. Thus Ψ has a fixed point $x \in C(J, \mathbb{R})$. We have

$$x(t) = \int_0^T G(t, \xi)\{\sigma(\xi) - N(\xi)[p(q(x))](\xi)\} ds + \frac{\lambda e^{-\int_0^t M(s)ds}}{1 - re^{-\int_0^T M(s)ds}}, \quad t \in J.$$

Hence $x \in C^1(J, \mathbb{R})$ is a solution of (9).

Now we prove that $y_0 \leq x \leq z_0$ on J , which means that x is a solution of (5) since $[g(x)](t) = x(t)$ if $y_0(t) \leq x(t) \leq z_0(t)$, $t \in J$. Put $m = x - y_0 \in C^1(J, \mathbb{R})$. In view of (6) we have

$$\begin{aligned} & m'(t) + M(t)m(t) + N(t)[p(\max\{m, \Theta\})](t) \\ &= x'(t) + M(t)x(t) - y_0'(t) - M(t)y_0(t) + N(t)[p(\max\{x - y_0, \Theta\})](t) \\ &\geq \sigma(t) - N(t)[p(q(x))](t) - \sigma(t) + N(t)[p(y_0)](t) \\ &\quad + N(t)[p(q(x))](t) - N(t)[p(y_0)](t) = 0, \quad t \in J, \end{aligned}$$

and

$$m(0) = x(0) - y_0(0) \geq r(x(T) - y_0(T)) = rm(T).$$

In view of Theorem 1 we have $m \geq 0$ on J . Thus $x \geq y_0$ on J .

Similarly let $m = z_0 - x \in C^1(J, \mathbb{R})$. Using (7) we obtain

$$\begin{aligned} & m'(t) + M(t)m(t) + N(t)[p(\max\{m, \Theta\})](t) \\ &= z_0'(t) + M(t)z_0(t) - x'(t) - M(t)x(t) + N(t)[p(\max\{z_0 - x, \Theta\})](t) \\ &\geq 0, \quad t \in J, \end{aligned}$$

and

$$m(0) = z_0(0) - x(0) \geq r(z_0(T) - x(T)) = rm(T).$$

Thus, by Theorem 1, we have $m \geq 0$ on J and $z_0 \geq x$ on J .

Finally, we prove uniqueness of solution. Let $x_1, x_2 \in [y_0, z_0]$ be solutions of (5). Put $u = x_1 - x_2$, $v = x_2 - x_1$. Using (8) we have

$$\begin{aligned} & u'(t) + M(t)u(t) + N(t)[p(\max\{u, \Theta\})](t) \\ &= x_1'(t) + M(t)x_1(t) - x_2'(t) - M(t)x_2(t) + N(t)[p(\max\{x_1 - x_2, \Theta\})](t) \\ &\geq \sigma(t) - N(t)[p(x_1)](t) - \sigma(t) + N(t)[p(x_2)](t) + N(t)[p(x_1)](t) - N(t)[p(x_2)](t) \\ &= 0, \quad t \in J, \end{aligned}$$

and analogically

$$\begin{aligned} & v'(t) + M(t)v(t) + N(t)[p(\max\{v, \Theta\})](t) \\ &= x_2'(t) + M(t)x_2(t) - x_1'(t) - M(t)x_1(t) + N(t)[p(\max\{x_2 - x_1, \Theta\})](t) \\ &\geq 0, \quad t \in J. \end{aligned}$$

Moreover $u(0) = ru(T)$ and $v(0) = rv(T)$. In view of Theorem 1 we have $x_1 = x_2$ on J . \square

4. Monotone Iterative Method

Theorem 2. Assume that:

1. $f \in C(J \times \mathbb{R} \times \mathbb{R}, \mathbb{R})$, there exist functions $M, N \in C(J, \mathbb{R})$, $M(t) > 0, N(t) \geq 0$ such that

$$\begin{aligned}
 f(t, u(t), [p(u)](t)) - f(t, v(t), [p(v)](t)) \\
 \geq -M(t)(u(t) - v(t)) - N(t)([p(u)](t) - [p(v)](t)), \quad (11)
 \end{aligned}$$

for $t \in J, u, v \in C(J, \mathbb{R}), y_0 \leq v \leq u \leq z_0$ on J .

2. $y_0, z_0 \in C^1(J, \mathbb{R}), y_0 \leq z_0$ are, respectively, lower and upper solutions of (1), i.e.

$$\begin{cases}
 y_0'(t) \leq f(t, y_0(t), [p(y_0)](t)), & t \in J, \\
 y_0(0) \leq ry_0(T) + \lambda,
 \end{cases}$$

and

$$\begin{cases}
 z_0'(t) \geq f(t, z_0(t), [p(z_0)](t)), & t \in J, \\
 z_0(0) \geq rz_0(T) + \lambda.
 \end{cases}$$

3. $p: C(J, \mathbb{R}) \rightarrow C(J, \mathbb{R})$ satisfies conditions (2), (3) and (6)-(8), p is continuous and $p([y_0, z_0])$ is bounded in $C(J, \mathbb{R})$.

Then there exist monotone sequences $\{y_n\}, \{z_n\}$ converging uniformly to the extremal solutions of (1) in $[y_0, z_0]$.

Proof. For each $\eta \in [y_0, z_0], t \in J$ consider the problem

$$\begin{cases}
 x'(t) + M(t)x(t) + N(t)[p(x)](t) = \sigma_\eta(t), \\
 x(0) = rx(T) + \lambda,
 \end{cases} \quad (12)$$

where $\sigma_\eta(t) = f(t, \eta(t), [p(\eta)](t)) + M(t)\eta(t) + N(t)[p(\eta)](t)$. Note that y_0, z_0 are, respectively, lower and upper solutions of (12). Indeed, by (11), we have

$$\begin{aligned}
 & y_0'(t) + M(t)y_0(t) + N(t)[p(y_0)](t) \\
 & \leq f(t, y_0(t), [p(y_0)](t)) + M(t)y_0(t) + N(t)[p(y_0)](t) \\
 & \leq f(t, \eta(t), [p(\eta)](t)) + M(t)(\eta(t) - y_0(t)) \\
 & + N(t)([p(\eta)](t) - [p(y_0)](t)) + M(t)y_0(t) + N(t)[p(y_0)](t) \\
 & = f(t, \eta(t), [p(\eta)](t)) + M(t)\eta(t) + N(t)[p(\eta)](t),
 \end{aligned}$$

and similarly

$$\begin{aligned}
& z_0'(t) + M(t)z_0(t) + N(t)[p(z_0)](t) \\
& \geq f(t, z_0(t), [p(z_0)](t)) + M(t)z_0(t) + N(t)[p(z_0)](t) \\
& \geq f(t, \eta(t), [p(\eta)](t)) + M(t)\eta(t) + N(t)[p(\eta)](t).
\end{aligned}$$

In view of Theorem 2, problem (12) has a unique solution $x_\eta \in [y_0, z_0]$.

Define operator $A: [y_0, z_0] \rightarrow [y_0, z_0]$ as $\eta \rightarrow A\eta = x_\eta$. First we prove that A is monotone. Let $y_0 \leq \eta_1 \leq \eta_2 \leq z_0$ on J and put $m = A\eta_2 - A\eta_1$. Then in view of (11) and (8) we have

$$\begin{aligned}
& m'(t) + M(t)m(t) + N(t)[p(\max\{m, \Theta\})](t) \\
& = (A\eta_2)'(t) + M(t)A\eta_2(t) - (A\eta_1)'(t) \\
& \quad - M(t)A\eta_1(t) + N(t)[p(\max\{A\eta_2 - A\eta_1, \Theta\})](t) \\
& = f(t, \eta_2(t), [p(\eta_2)](t)) - f(t, \eta_1(t), [p(\eta_1)](t)) \\
& \quad - N(t)[p(u_{\eta_2})](t) + M(t)\eta_2(t) + N(t)[p(\eta_2)](t) + N(t)[p(u_{\eta_1})](t) \\
& \quad - M(t)\eta_1(t) - N(t)[p(\eta_1)](t) + N(t)[p(\max\{u_{\eta_2} - u_{\eta_1}, \Theta\})](t) \\
& \geq 0, \quad t \in J,
\end{aligned}$$

and

$$m(0) = u_{\eta_2}(0) - u_{\eta_1}(0) = r(u_{\eta_2}(T) - u_{\eta_1}(T)) = rm(T).$$

In view of Theorem 1 $A\eta_1 \leq A\eta_2$ on J . Define sequences $\{y_n\}, \{z_n\}$ such that $y_{n+1} = Ay_n, z_{n+1} = Az_n$ for $n \geq 0$. We have $y_0 \leq y_1$ on J . Indeed, put $m = y_1 - y_0$. Then

$$m'(t) + M(t)m(t) + N(t)[p(\max\{m, \Theta\})](t) \geq 0$$

and $m(0) \geq rm(T)$, so $m \geq 0$ on J . Similarly $z_1 \leq z_0$ on J .

We show that y_1 is a lower solution of (1). We have

$$\begin{aligned}
& y_1'(t) + M(t)y_1(t) + N(t)[p(y_1)](t) \\
& = f(t, y_0(t), [p(y_0)](t)) + M(t)y_0(t) + N(t)[p(y_0)](t) \\
& \leq M(t)y_1(t) + N(t)[p(y_1)](t) + f(t, y_1(t), [p(y_1)](t)).
\end{aligned}$$

Thus

$$y_1'(t) \leq f(t, y_1(t), [p(y_1)](t)).$$

Analogically z_1 is an upper solution of (1). Using mathematical induction it can be proved that

$$y_0 \leq y_1 \leq \dots \leq y_n \leq z_n \leq \dots \leq z_1 \leq z_0 \quad \text{on } J.$$

Sequences $\{y_n, z_n\}$ are uniformly bounded and equicontinuous on J . In view of Arzela-Ascoli theorem there exist subsequences $\{y_{n_k}, z_{n_k}\}$ of $\{y_n, z_n\}$ converging uniformly on J to some continuous functions y, z respectively. Since y_{n_k}, z_{n_k} satisfy integral equations

$$\begin{cases} y_{n_{k+1}}(t) = y_{n_k}(0) + \int_0^t f(s, y_{n_k}(s), [p(y_{n_k})](s)) ds \\ + \int_0^t M(s)[y_{n_k}(s) - y_{n_{k+1}}(s)] + N(s)[[p(y_{n_k})](s) - [p(y_{n_{k+1}})](s)] ds, \\ y_{n_{k+1}}(0) = ry_{n_{k+1}}(T) + \lambda, \end{cases}$$

$$\begin{cases} z_{n_{k+1}}(t) = z_{n_k}(0) + \int_0^t f(s, z_{n_k}(s), [p(z_{n_k})](s)) ds \\ + \int_0^t M(s)[z_{n_k}(s) - z_{n_{k+1}}(s)] + N(s)[[p(z_{n_k})](s) - [p(z_{n_{k+1}})](s)] ds, \\ z_{n_{k+1}}(0) = rz_{n_{k+1}}(T) + \lambda, \end{cases}$$

we have

$$\begin{cases} y(t) = y(0) + \int_0^t f(s, y(s), [p(y)](s)) ds, \\ y(0) = ry(T) + \lambda, \end{cases}$$

$$\begin{cases} z(t) = z(0) + \int_0^t f(s, z(s), [p(z)](s)) ds, \\ z(0) = rz(T) + \lambda. \end{cases}$$

Hence y, z are solutions of (1). If $u \in [y_0, z_0]$ is a solution of (1) then $y_n \leq u \leq z_n, n \in \mathbb{N}$. When $n \rightarrow \infty$ we get $y \leq u \leq z$ which proves that y, z are extremal solutions of (1) in $[y_0, z_0]$. □

References

- [1] T. Jankowski, On delay differential equations with nonlinear boundary conditions, *Hindawi Publishing Corporation, Boundary Value Problems*, **2005**, No. 2 (2005), 201-214.
- [2] G.S. Ladde, V. Lakshmikantham, A.S. Vatsala, *Monotone Iterative Techniques for Nonlinear Differential Equations*, Pitman, Boston (1985).

- [3] J.J. Nieto, R. Rodríguez-López, Existence and approximation of solutions for nonlinear functional differential equations with periodic boundary value conditions, *Comput. Math. Appl.*, **40** (2000), 433-442.
- [4] J.J. Nieto, R. Rodríguez-López, Remarks on periodic boundary value problems for functional differential equations, *J. Comput. Appl. Math.*, **158** (2003), 339-353.
- [5] J.J. Nieto, R. Rodríguez-López, Monotone method for first-order functional differential equations, *Comput. Math. Appl.*, **52** (2006), 471-484.